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C H O  FHEIVEH Merck Index fE#5
4:0 [T 4 8 2 88.1 1
6:0 ~FY MR 6 12 2 116.16 1
7:0 NI BB 7 14 2 130.18 1
8:0 5 R 8 16 2 144.21 1
10:0 7 Tk 10 20 2 172.26 1
12:0 TR 12 24 2 200.32 1
13:0 AN 13 26 2 214.35 3
14:0 SURF R 14 28 2 228.37 1
15:0 NUBT IR 15 30 2 242.40 3
15:0 ant ~SUHTHUFR 15 30 2 242.40 3
16:0 PV T R 16 32 2 256.42 1
16:0 iso 7VLIF PR 16 32 2 256.42 2
17:0 NI BT T PR 17 34 2 270.45 1
17:0 ant ~THT H MR 17 34 2 270.45 2
18:0 AT TV 18 36 2 284.48 1
20:0 TIX U 20 40 2 312.53 1
22:0 NAUE 22 44 2 340.58 1
24:0 V7 )V R 24 48 2 368.63 1
10:1 F R 10 18 2 170.25 2
14:1 SYRRL A iR 14 26 2 226.35 2
15:1 AXUET R 15 28 2 240.38 2
16:1 7 OVIRL A VR 16 30 2 254.41 3
17:1 T HET R UEE 17 32 2 268.44 3
18:1 LA HE 18 34 2 282.46 1
20:1 At P 20 38 2 310.52 3
22:1 Rat g 22 42 2 338.57 1
24:1 ThIat g 24 46 2 366.63 3
16:2 AT YW 16 28 2 252.39 2
16:3 ~FYT IR R 16 26 2 250.38 2
16:4 AEYTHT TR 16 24 2 248.37 3
17:2 NT BT TR 17 30 2 266.42 2
18:2 FIBT T PR 18 32 2 280.44 2
18:2 n6 U/— Lz 18 32 2 280.44 1
18:3 Ve 18 30 2 278.43 1
18:3 n3 a-U/LE 18 30 2 278.43 1
18:3 n6 y-UJLR 18 30 2 278.43 1
18:4 n=3 AVHTHTITITUMR 18 28 2 276.41 2
20:2 n6 AT 20 36 2 308.51 3
20:3 n6 AIYRITIFER 20 34 2 308.5 2
20:4 n-3 AV TITTUME 20 32 2 304.47 1
20:4 n—6 TIFRUME 20 32 2 304.47 1
20:5 n-3 AP UETURE 20 30 2 302.45 1
21:5 n=3 ~r AP RUFT UM 21 32 2 316.48 2
22:2 Koo o fig 22 40 2 336.56 3
22:4 n-6 Raprrhrx= g 22 36 2 332.52 2
22:5 n-3 Ray X fE 22 34 2 330.5 2
22:5 n6 Rat~xxT g 22 34 2 330.5 2
22:6 n-3 Rat~FHx fiE 22 32 2 328.49 1
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